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3. [Tl solve each of the following pairs of simultaneous equations using a graphical method

a zty=5
2+y=38
b oz+2y=10

3z+y=15
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4. Using technology, determine which of the following pairs of simultaneous equations have no solutions.
Confirm by finding the gradient of each line.

ay=2c-4
3y—6z=10

b. 5z — 3
4z — 2

cz+2=8
52+ 10y=45

y=4z+5
2y—10z=38
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Exercise 4.3 Solving simultaneous linear equations using
substitution
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1. [ Solve the following simutaneous equations using the substitution method. Check your solutions
using technology.

az=-10+4y
3z +5y=21

b. 3z + 4y =2
z=T+5y
c3z+y="T
z=-3-3y
d 3z+2y=133
y=41-5z
e y=3z-3
—5z+3y=3

fdz+y=9
y=11-5z
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2. [l Solve the following pairs of simultaneous equations using the substitution method. Check your
solutions using technology.

ay=2—llandy=4dz+1
b.y=3z+8andy="7z — 12
cy=2z-10andy= -3z

9andy= 5z

ey=—4z—3andy=z-8
fy=—2z-5andy=10z+1

2andy=—z+1

9y=
h.y=6z+2andy=—dz

i.y=05zandy =08z +09
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Exercise 4.4 Solving simultaneous linear equations using
elimination
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1. [IE Solve the following pairs of simultaneous equations by adding equations to eliminate either
zory.

az+2=5
o ay=1

b. 5z + 4y =2
52— 4y= 22

¢ —2+y=10
2 +3y=14

2. Solve the following pairs of equations by subtracting equations to eliminate either z or y.

a 3z+2=13

5z+2y=23

b. 2z — sy=—11
2 +y=7

c -3z-y=8

3z +4y—13
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3. Solve each of the following equations using the elimination method
a 6z —5y=—43
6z —y=——23
bz —4y=27
3 4y=17
¢ —dz+y=-10
4z -3y—14

d 5z +3;
sz ty=

3

e 5z 5y=1
22— 5y= -5
fdz—3y—1=0
4z +7y—11
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4. [T Solve the following pairs of simuitaneous equations.

a 6z+y=9
~3z+2y=3

b oz+3y=14
3z+y=10

c bz+y=27

4z +3y=26
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1. Solve the following pairs of simultaneous
equations:

243
y=s5e-3

a)
b) y=3c-1
2v+4y=10

o) bx+y=4
Sx+2y=1

d) x-3y=1
2045235
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Solve these pairs of simultaneous equations.
y=3x
2x+y=5

1)

=x+1
2 Y7

Sx+y=13
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3)

4)

5)

6)

y=2
3y+x=35

y=x-3
2x +4y = 42

y=2x-1
3x+ 5y =34

<
I
A=

S5x—8y =12
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2

Bl

Bample
2etdy=18

— 2s3y=16

y=2

2+ (3x2)=16
20+6=16
=10

x=5

)

see2y
sty

aresy
ey

x=  y=

Subsiurs the vaues into esch squation to

check your answers!
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)

e (ax3)=27
e12=27
3

x y
Subsiurs the vaues into ssch squaton 9
check your answers!

245y
Zizy=is

sctay=10

Y erays

51 James bough 5 chocolat bars and 2 packets o crisp. He spent £5.20
Jane bought 2 chocolat bars and 2 packets of criss. She spe: £280
How much would 2 chocoate bars nd £ pacet f cris cost?
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‘We want to eliminate the y varisble.
But what happens e subtract
the botom equation?

What shoud e do nstesc?

Rearrange one of the aquations before adding or subtracting
g SHER o mis=—2 L a=y-le
| ax=30-3y O =2tz 7 ery=2
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Exercise 4.2 Graphical solution of
simultaneous linear equations
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1. [0 Use the graphs to find the solution of the simultaneous
equations.

az+y
z-y
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x+y=2
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